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QUADRATICS

How Much Do You Know

1. Which of the following linear expression divides

evenly into 6z + 7z — 20 ?

A 3x — 10


https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_FxhAkRj3PvFO

B.3x — 5

C3rx —14
D.3x — 2
Answer: C

° Watch Video Solution

2.2° — 10z — 7
Which of the following expression is equivalent to

the expression above ?

A (z —5)° — 32


https://dl.doubtnut.com/l/_FxhAkRj3PvFO
https://dl.doubtnut.com/l/_yDsX2tUZ2QZE

B.(z — 5)° + 32
C.(z+5)7°—32

D. (z 4 5)° + 32

Answer: A

° Watch Video Solution

3.In the equation above, k is a constant. For which
of the following values f k does the equation have

at least one re3al solution ?

A2


https://dl.doubtnut.com/l/_yDsX2tUZ2QZE
https://dl.doubtnut.com/l/_3TJRwwq0GecN

B.3

C.4

D.5

Answer: A

o Watch Video Solution

4.

Which of the following could be the equation of

the graph shown ?

Ay=2z 4+ 10


https://dl.doubtnut.com/l/_3TJRwwq0GecN
https://dl.doubtnut.com/l/_qUJHTkD7JLIk

By= —=x N + 10

Cy= —(z—2)(z+5)

D.y = — (z +2)(z — 5)
Answer: D

° View Text Solution

5. The x-coordinates of the solutions to a system of
equations are 3.5 and 6. Which of the following

could be the system ?

{y:w—l—3.5
A. 5
y=x"+6


https://dl.doubtnut.com/l/_qUJHTkD7JLIk
https://dl.doubtnut.com/l/_o0DjvcYrZqg7

: (y=z—7
-4 5
ly= —(z—6)
fy=;:1:—|—3
C. 1 0
ly= —(z—5)"+7
ry:%a:—l—7
D. 0
ly= —(x —6)"+35
Answer: C

° Watch Video Solution

Try On Your Own

1. Which of the following equivalent form of the

expression (6 — 5x)(15x — 11) ?


https://dl.doubtnut.com/l/_o0DjvcYrZqg7
https://dl.doubtnut.com/l/_c1AVlOUdN3Ji

A — 7522 + 35z — 66

B. — 75z2 4+ 145x — 66

C.90z> — 141z + 35

D.90z? + 9z + 55

Answer: B

o Watch Video Solution

2. Which of the following is equivalent to

z2 — 10z + 25 -
3x2 — 75 '

3(xz — b)
A (z + 5)


https://dl.doubtnut.com/l/_c1AVlOUdN3Ji
https://dl.doubtnut.com/l/_KdJG2wswovJd

5 3(xz + 5)
(z —5)

(z —5)

" 3(z +5)
o, (z + 5)
3(xz — 5)

Answer: C

o Watch Video Solution

3. For what positive value of x is the equation

3

= O underfined ?
22 + 4 — 6

o Watch Video Solution



https://dl.doubtnut.com/l/_KdJG2wswovJd
https://dl.doubtnut.com/l/_A7leuZ09SiwI
https://dl.doubtnut.com/l/_Gys25unyTTHo

4.3z 4 9z = 54
What is the sum of the roots of the equation

above ?

C.3

D.6

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_Gys25unyTTHo

5. Which of the following functions is equivalent to

thte function above ?

A f(z) = (¢ - 5)°
B. f(z) = x* + 10.28z + 5.42

C. f(z) = 0.61z% 4 0.14x + 25

f(z) = 1.3(z — 3)* = 0.6922 + 0.14z + 9.79

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_KEJIjc26REI2
https://dl.doubtnut.com/l/_zWTAlNn3FpVu

6. For all a and b, what is the sum of

(a —b)* and (a +b)*?

A. 2a
B. 2a% — 2b*
C.2sa® + 2b

D. 2a> + 4ab + 2b

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_zWTAlNn3FpVu

7. What is the positive difference between the

1
roots of the equation y = §w2 — 2 + 37

o Watch Video Solution

3
(=7’ +6(x—17)+9

For which value of x is the function f (x) underfined

8. f(z)

?

o Watch Video Solution



https://dl.doubtnut.com/l/_P2FW3FX38VqV
https://dl.doubtnut.com/l/_8iGmF3Bj1YR1

9. Suppose a’+2ab+ b =c? and c— b =4.

Assuming ¢ > 0, which is the value of a ?

o Watch Video Solution

10.22% — 28z + 98 = a(z — b)*
In the expression above, a > 1 and both a and b
are constants. Which of the following could be the

value of b ?

B.7


https://dl.doubtnut.com/l/_EhW4LnYLB9bA
https://dl.doubtnut.com/l/_0pO6oe9gSbtO

C.14

D. 49

Answer: B

o Watch Video Solution

11. Which of the following is a value of x that

satisfies the equation z° + 2z — 5 = 0?

B.1—,/6

C.1+,/6


https://dl.doubtnut.com/l/_0pO6oe9gSbtO
https://dl.doubtnut.com/l/_kz41V4s38BAA

D.—1—,/6

Answer: D

o Watch Video Solution

12.a* — 12aa®* — 72 =0
Which of the following is the greatest possible

valueofa?

A ,/6+ /3

B.,/6(1+ v/3)

C.12


https://dl.doubtnut.com/l/_kz41V4s38BAA
https://dl.doubtnut.com/l/_sOoZEqS9KJHP

D.6(1 + /3)

Answer: B

o Watch Video Solution

13.2° — (6/5)z = — 40
What is the sum of the possible values of x given
the above equation ?

A.15

B.5,/5

C.64/5


https://dl.doubtnut.com/l/_sOoZEqS9KJHP
https://dl.doubtnut.com/l/_DUeAe9wqbyqN

D. 60

Answer: C

o Watch Video Solution

4.2° + Tz + 1= 22° — 4z + 3
Which of the following is a value of x that is valid
in the above equation ?

A.5.5 — /28.25

B. /5.5

C.,/30.25


https://dl.doubtnut.com/l/_DUeAe9wqbyqN
https://dl.doubtnut.com/l/_98vnJEPswyMc

D.5.5 4+ 1/30.25

Answer: A

o Watch Video Solution

15. Given the equation 2z + 8z + 4 + 2z = 0,
for what value of z is there exactly one solution for

X ?

o Watch Video Solution



https://dl.doubtnut.com/l/_98vnJEPswyMc
https://dl.doubtnut.com/l/_2uaTyDDn80m8

16. The product of all the solutions to the equation

3y? 4+ 4v — 2 = 0is M. What is the value of M ?

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_ykJXfXBMkVX3

17. What are the solution to the equation

4z — 241 +16 =07

Az =3%+,/5
B.x =4+ .,/6
Cx=5+,/3
D.z =5+ 22
Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_xXAGL3qDQdBk

18.3z% = m(5z + v)
What are the values of x that satisgy the equation

above, where m and v are constants ?

5 2
Ag— m n V25m?2 + 12muw

6 6
5 2
B — m n V25m?2 + 12mu
6 §
5 2
Cwe _ m n V12m?2 + 12mw
3 3
5 2
— m n V25m?2 + 12mu
3 3
Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_2BVOqn2pXAGD
https://dl.doubtnut.com/l/_IZULYfXEr1uK

19.2(dz +10) = — 3
The equation above, where d is a constant, has no
real solutions. The value of d could be which of the
following?

A —12

B.4

C.8

D.10

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_IZULYfXEr1uK
https://dl.doubtnut.com/l/_CxoPr7dfXqpX

20. Which of the following equations does NOT

have any solutions that are real numbers ?

Az +8 —12=0

B.z2 — 8z +12=0

Cr’?—92+21=0

D.z2 +100z — 1 =10

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_CxoPr7dfXqpX

21, Lo
The following quadratinos are all representations
of the graph above. Which equation clearly
represents the exact values of the x-intercepts of
the graph ?

Ay=4z® —z—3

B.y = (4= + 3)(xz — 1)

C.y = 4(z — 0.125)% — 3.0625

D.y + 3.0625 = 4(z — 0.125)”

Answer: B

‘ ° View Text Solution


https://dl.doubtnut.com/l/_YKP8QAVc8Guc

22. Which equation represents the Axis of

symmetry for the graph of the quadratic function

flz) = —%w2—|—17w—411—§?
Axr = —ﬂ
11
B.x = —E
22
C.a::E
22
D.{B:E
11
Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_YKP8QAVc8Guc
https://dl.doubtnut.com/l/_BN8KpHmnjpKm

23. How many times do the parabolas given by the
equation
f(z) = 32% — 242 + 52 and g(z) = z* + 12z — 110
intersect ?

A. Never

B. Once

C. Twice

D. More than twice

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_BN8KpHmnjpKm
https://dl.doubtnut.com/l/_KPha4IiYcQTv

24. What is the positive difference between the x-
intercepts of the parabola given by the equatin

g(z) = —2.52% + 10z — 7.57?

o Watch Video Solution

25. A toy rocket is fired from ground level. The
height of the rocket with respect to time can be
represented by a quadratic function. If the toy
rocket reaches a maximum height of 34 feet 3

seconds after it was fired, which of the following


https://dl.doubtnut.com/l/_KPha4IiYcQTv
https://dl.doubtnut.com/l/_iMP8GmiMqQ8B
https://dl.doubtnut.com/l/_VzBiJoNjQyqW

functions could represent the height, h, of the

rocket t secnds after it was fired ?
A h(t) = —16(t — 3)> + 34
B.h(t) = — 16(¢t + 3)> + 34
C.h(t) = 16(¢t — 3)* + 34

D. h(t) = 16(t + 3)* + 34

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_VzBiJoNjQyqW

12 .
2%6. a="b'+4b— 12
a= —12+0b

The ordered pair (a,b) satisfies the system of

equatin above. What is one possible value of b ?

C.2

D.3

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_mXOrnt4KYa1L
https://dl.doubtnut.com/l/_rXPOcIsvKmX7

27. In the xy-coordinate plane, the graph of
Yy = 522 — 12z intersects the grphsof y = — 2 at

points (0,0) and (a,b). What is the value of a ?

o Watch Video Solution

28. How many real solutions are there to the

system of equations above ?

A. Exactly 4 real solutions

B. Exactly 2 real solutions

C. Exactly 1 real solutions

D. No real solutions


https://dl.doubtnut.com/l/_rXPOcIsvKmX7
https://dl.doubtnut.com/l/_AjgtVGeJsJaR

Answer: B

o Watch Video Solution

29. Lo

The graph of the function f, dedined by
f(z) = —2(x —3)*> —4, is shown in the xy-
plane above. The function g (not shown) is defined
by g(xz) = 2z — 10. If f© = g©, what is one

possible value of ¢ ?


https://dl.doubtnut.com/l/_AjgtVGeJsJaR
https://dl.doubtnut.com/l/_Nit8rAZ0X8v3

C.2

D.4

Answer: C

o View Text Solution

30. On the xy-plane, points P and Q are the two

points where the parabola with the equation

14
y:3:c2+?:c— ? and the line with thte
: 4 1 :
equation y = — gzc— 3 meet. What is the

distance between point P and point Q ?


https://dl.doubtnut.com/l/_Nit8rAZ0X8v3
https://dl.doubtnut.com/l/_3bE23hH4REwq

A5

B.8

C.10

D. 12

Answer: C

o Watch Video Solution

31. The function
f(z) = 4z® — 25 and g(z) = —4z® +25 are

graphed in the xy-plane above. The point where


https://dl.doubtnut.com/l/_3bE23hH4REwq
https://dl.doubtnut.com/l/_JkIatckxUAyj

the two functions intersect are (z,0) and ( — z, 0).
What is the value of z ?

A. 0.5

B.1.0

C.2.5

D.4.0

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_JkIatckxUAyj

1
32. The equation Z(4m2 — 8x — k) = 30 has two
solutions: = — 5 and £ = 7. What is the value

of 2k ?

o Watch Video Solution

33l

The maximum value of the data shown in the
scatterplot above occurs at x = 25. It the data is
modeled using a quadratic regression and the
correlation coefficient is 1.0 (the fit is exact), then

what is the y-value when x = 357


https://dl.doubtnut.com/l/_CrGThnfBJoEa
https://dl.doubtnut.com/l/_UzHy0Qskc5HL

A. 10

B.15

C.22

D. 27

Answer: D

o View Text Solution

34. The height of a boulder launched from a
Roman catap can be described as a function of

time according to the following quadratic

equation: h(t) = — 16t + 224t + 240.


https://dl.doubtnut.com/l/_UzHy0Qskc5HL
https://dl.doubtnut.com/l/_ndaRfzoe8hki

What is the maximum height that the boulder

attains ?

A. 240

B. 784

C.1024

D. 1696

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_ndaRfzoe8hki

35. The height of a boulder launched from a
Roman catap can be described as a function of
time according to the following quadratic
equation: h(t) = — 16t + 224t + 240.

How much time elapese between the moment the
boulder is launched and the moment it hits the
ground, assuming that the ground is at a height of

0?
A7
B. 12

C.14

D.15


https://dl.doubtnut.com/l/_zCGdYx4v4iBw

Answer: D

o Watch Video Solution

36. L.
If the function shown in the graph is represented
by f(z) = a(z — h)® + k, which of the following
statements is NOT true ?
A. The value of a is negative.
B. f (x) is symmetrical across the line y = 3.
2T

C.The function g(x) = 3 intersects f (x) at

its vertex.


https://dl.doubtnut.com/l/_zCGdYx4v4iBw
https://dl.doubtnut.com/l/_C9pE08o1XnfN

D. The value of h is positive.

Answer: B

o View Text Solution

37. If (xy) is a solution to the system of equations

above, what is the value of % ?

o Watch Video Solution

38. What are the x-intercepts of the parabolic

81
function f(z) = z* — Tz + x ?


https://dl.doubtnut.com/l/_C9pE08o1XnfN
https://dl.doubtnut.com/l/_yiGBMslaVitr
https://dl.doubtnut.com/l/_TiXbBSWGsvag

1
Al —
and 84

Bl1 d53
.17 and 57

Cl1 d53
.17 and 57

D11 d51
.15 and 55

Answer: D

o Watch Video Solution

39.1f g(z) = (z — 2)° — 5, which of the following

statements is true ?


https://dl.doubtnut.com/l/_TiXbBSWGsvag
https://dl.doubtnut.com/l/_UE2PpWkdrFIO

A.The function g (x) is increasing over the

entire domain.

B.The functin g (x) is decreasing over the

entire domain.

C.The function g (x) is increasing for < 2

and decreasing for z > 2.

D. The function g (x) is decreasing for = < 2

and increasing for z > 2.

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_UE2PpWkdrFIO

40. What is the sum of the solutions of

(6z +5)° — 3z —2)* =07

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_6sGpqwPvX6B1

41. If the equation above is true, then what is the
positive value of the expression 10,/ — 157

A. 20

B. 25

C.30

D. 35

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_vUiCaoSiIAXW

42. In the equation x — 2 = 5 which of the

w_

following is a possible value of x — 27

A /3
B.1
C.2+,/3

D.3

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_CJ6rxZahfqVQ

Loty
43, If

o 3 -
T (z ), x and y are positive

integers,and x > y, what is thevalueofxz — y?

Al
B.2
C.3

D.8

Answer: A

o Watch Video Solution

Solving Quadratics By Factoring


https://dl.doubtnut.com/l/_SiMQiINaLif3

1. If 22 — 7z = 30 and z > 0, what is the value
ofx — 57

A.5

B.6

C.10

D. 25

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_3Lpz1v4a1iqx

Classic Quadratics

1. Which of the following expressions is equivalent
to 25z2yt — 172

A. 5(w2y4 — 1)

B. —5(zy” + 1)

C. (5zy — 1)(bzy + 1)

D. (5zy® — 1) (5zy® + 1)

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_PhXayiciDt5h

Completing The Square

1. Which of the following equations has the same

2

solutions as the equation 40 — 6z = z° — y ?

Ay=(z—6)°—40
B.y = (x — 6) + 40
Cy=(z+3)°—49

D.y = (x + 3)° + 49

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_3dXJ4vJ8oQq4

The Quadratic Formula

1. Which of the following are the real values of x

that satisfy the equation 2z° — 52 — 2 = 07?

A.1 and 4
5 41 5 41
A I Vo SR Vi §
4 4 4 4
V4l V41
C Z‘f— 4 and Z—T

D. No real solutions

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_vAxKjcYvTgBN

Graphs Of Quadratics

1. Given the equatin y = — (2 — 4)® 4+ 7, which
of the following statements is NOT true ?

A. The vertex is (4,7).

B. The y-intercept is (0, — 9).

C. The parabola opens diownward.

D.The graph crosses the x-axis at least one

time.

Answer: A

‘ ° Watch Video Solution


https://dl.doubtnut.com/l/_xuDQlh3UrQcC

Systems Of Quadratic And Linear Equations

1. In the  xy-plane, the graph of
y+ 3z =52+ 6 and y — 6 = 2z intersect at

points (0,6) and (a,b). What is the value of b ?

° Watch Video Solution



https://dl.doubtnut.com/l/_xuDQlh3UrQcC
https://dl.doubtnut.com/l/_IPVKs7kRoKR3

